Natural Vibrations of Truncated Conical Shells of Variable Thickness

S. A. Bochkarev

Institute of Continuous Media Mechanics, Ural Branch, Russian Academy of Sciences, Perm, 614013 Russia

e-mail: bochkarev@icmm.ru

Received October 15, 2020; revised November 4, 2020; accepted November 8, 2020

Abstract—The paper presents the results of studying the natural frequencies of circular truncated conical shells, the thickness of which varies according to different laws. The behavior of the elastic structure is described in the framework of the classical theory of shells based on the Kirchhoff-Love hypotheses. The corresponding geometric and physical relations together with the equations of motion are reduced to asystem of ordinary differential equations for new variables. The solution to the formulated boundary value problem is found using Godunov orthogonal sweep method involving the numerical integration of differential equations by the Runge-Kutta fourth order method. The natural frequencies of vibrations are evaluated using a combination of a step-wise procedure and subsequent refinement by the interval bisection method. The reliability of the results is verified by comparison with the known numerical-analytical solutions. The dependences of the minimum vibration frequencies obtained at shell thicknesses subject to a power-law variation (linear and quadratic, with symmetric and asymmetric shapes) and harmonic variation (with positive and negative curvature) are investigated for shells with different combinations of boundary conditions (simply supported, rigidly clamped, and cantilevered support), cone angles and linear sizes. The results of the study confirm the existence of configurations that provide a significant increase in the frequency spectrum compared to shells of constant thickness under the same limitations on the structure weight.

Keywords: classical shell theory, conical shell, Godunov orthogonal sweep method, natural vibrations, variable thickness

DOI: 10.1134/S0021894421070038

1. INTRODUCTION

As we know [1], applied problems require maximization of the minimum (fundamental) vibration mode to expand the resonanceless frequency range of the structure in order to increase its operational characteristics. For shells of revolution, as structural elements with a variety of technical applications, an increase in the lower vibration frequency along with the choice of suitable boundary conditions, geometric dimensions, variable stiffness, initial stresses, reinforcement angles and others [2-6] can also be achieved by specifying a varied wall thickness [7]. For truncated conical shells, which are the focus of this work, the effect of thickness varying along the length in some way on the frequency spectrum was also estimated in [8-26]. These works present the results of studying the effect of various parameters on the free vibrations of isotropic, orthotropic, composite, layered and reinforced shells, the wall thickness of which changes according to power, exponential or harmonic laws, based on numerical and numerical-analytical methods (collocations, wavelet analysis, Rayleigh-Ritz method, power series expansions, finite elements, or discrete orthonormalization). But among these publications, only in [17-19, 21] the focus is on maximizing the lower vibration frequency relative to the reference, which is taken as the frequency of a shell with a constant thickness and equivalent mass. In addition, the research is limited only to the case of a linear change in thickness. A similar discussion of cylindrical shells in [27, 28] was carried out for a larger number of thickness variations. At the same time, it is noted that the variation of the wall thickness according to the quadratic law most significantly affects the increase of the fundamental frequency. The purpose of this work is to perform a similar analysis for conical shells, involving more varied laws of thickness variation along the length than those presented in literature.



Fig. 1. Computational model.



Fig. 2. Longitudinal section of the shell walls with different versions of changing the thickness: V1–linear asymmetric; V2–linear symmetric; V3–quadratic asymmetric; V4–quadratic symmetric; V5–harmonic convex; V6–harmonic concave.

2. PROBLEM SETUP

Let us consider a truncated conical shell (Fig. 1) with a minimum radius R_1 , apex angle α and generatrix length *l*. The shell wall thickness h = h(s) varies along the length of the generatrix and is mathematically described as $h = h_e g(s)$. Here h_e is the equivalent thickness calculated relative to the reference thickness h_0 , and g(s) is the function of the meridian coordinate *s*, determining the law of thickness variation.

Figure 2 presents the variants of shell wall thicknesses, which correspond to the function g(s) of the form:

V1:
$$g(s) = 1 + k |\xi - 1|;$$
V2: $g(s) = 1 + k |\xi - 1|;$ V3: $g(s) = 1 + k (\xi - 1)^2;$ V4: $g(s) = 1 + k (2\xi - 1)^2;$ V5: $g(s) = 1 + k \sin(\pi\xi);$ V6: $g(s) = 1 + k [1 - \sin(\pi\xi)],$

where $\xi = s/l$ and k is the thickness variability coefficient. The value of h_e is calculated from the condition of mass equivalence with the reference shell according to the following formulas:

V1, V2:
$$h_e = \frac{2h_0}{2+k};$$
V5: $h_e = \frac{\pi h_0}{2k+\pi};$ V3, V4: $h_e = \frac{3h_0}{3+k};$ V6: $h_e = \frac{\pi h_0}{\pi k + \pi - 2k}.$

JOURNAL OF APPLIED MECHANICS AND TECHNICAL PHYSICS Vol. 62 No. 7 2021

BOCHKAREV

As can be seen from the formulas, at k = 0 the shell thickness is constant and equal to $h = h_0$.

Thus, the problem is to study the effect of the thickness, described by different laws, on the frequency spectrum of the truncated conical shell both for its different linear size and for kinematic boundary conditions set at the edges based on the condition of mass equivalence for a specific cone angle.

3. FUNDAMENTAL RELATIONS

Within the classical shell theory based on the Kirchhoff–Love hypotheses, the components of the deformation vector E_{ii} in a curvilinear coordinate system {*s*, θ , *z*} can be represented as [29]:

$$E_{11} = \varepsilon_{11} + z\kappa_{11}, \quad E_{22} = \varepsilon_{22} + z\kappa_{22}, \quad E_{12} = \varepsilon_{12} + 2z\kappa_{12},$$

where

$$\varepsilon_{11} = u' + r_1 w, \quad \varepsilon_{22} = v^{\bullet} + \psi u + r_2 w, \quad \varepsilon_{12} = v' + u^{\bullet} - \psi v,$$

$$\kappa_{11} = \theta'_1, \quad \kappa_{22} = \theta^{\bullet}_2 + \psi \theta_1, \quad \kappa_{12} = \theta^{\bullet}_1 - \psi \theta_2 + r_2 v', \quad \theta_1 = -w' + r_1 u, \quad \theta_2 = -w^{\bullet} + r_2 v, \quad (1)$$

$$(\dots)' = \frac{1}{A_1} \frac{\partial (\dots)}{\partial s}, \quad (\dots)^{\bullet} = \frac{1}{A_2} \frac{\partial (\dots)}{\partial \theta}, \quad \psi = \frac{1}{A_2} A'_2.$$

Here, A_1 , A_2 are Lamé coefficients; r_1 , r_2 are curvatures; u, v, w are meridian, circumferential and normal components of the shell displacement vector; and θ_1 , θ_2 are rotation angles of the nondeformable normal.

The physical relations establishing the relationship between the vector of forces and moments $\mathbf{T} = \{T_{11}, T_{22}, S, M_{11}, M_{22}, H\}^{T}$ and the vector of generalized deformations $\boldsymbol{\varepsilon} = \{\varepsilon_{11}, \varepsilon_{22}, \varepsilon_{12}, \kappa_{11}, \kappa_{22}, 2\kappa_{12}\}^{T}$, are written in matrix form as

$$\mathbf{\Gamma} = \mathbf{D}\boldsymbol{\varepsilon} = \begin{bmatrix} \mathbf{\bar{A}} & \mathbf{\bar{B}} \\ \mathbf{\bar{B}} & \mathbf{\bar{C}} \end{bmatrix} \boldsymbol{\varepsilon}.$$
 (2)

Here, the quantities making up the stiffness matrix \mathbf{D} are functions of the meridian coordinate *s* and are calculated by the formulas:

$$\overline{a}_{ij}(s) = \int_{h(s)} \overline{Q}_{ij} dz, \quad \overline{b}_{ij}(s) = \int_{h(s)} z \overline{Q}_{ij} dz, \quad \overline{c}_{ij}(s) = \int_{h(s)} z^2 \overline{Q}_{ij} dz \quad (i, j = 1, 2, 3),$$
(3)

where the coefficients \overline{Q}_{ij} are determined in a known manner [29] with respect to the elastic moduli (E_{11}, E_{22}) , Poisson's ratio (v_{12}) and shear modulus (G_{12}) of the shell material.

The equations of motion for the shell are:

$$T_{11}' + \psi(T_{11} - T_{22}) + S^{\bullet} + r_{1}(Q_{11} - H^{\bullet}) - \rho_{0} \frac{\partial^{2} u}{\partial t^{2}} = 0,$$

$$S' + 2\psi(S + r_{1}H) + T_{22}^{\bullet} + r_{2}(Q_{22} + H') - \rho_{0} \frac{\partial^{2} v}{\partial t^{2}} = 0,$$

$$Q_{11}' + \psi Q_{11} + Q_{22}^{\bullet} - r_{1}T_{11} - r_{2}T_{22} - \rho_{0} \frac{\partial^{2} w}{\partial t^{2}} = 0,$$

$$M_{11}' + \psi(M_{11} - M_{22}) + H^{\bullet} - Q_{11} = 0,$$

$$H' + 2\psi H + M_{22}^{\bullet} - Q_{22} = 0,$$

(4)

where Q_{ii} are shear forces and $\rho_0(s) = \int_{h(s)} \rho dz$, ρ is the density of the material.

Expanding all the parameters describing the behavior of the truncated conical shell in Fourier series in the circumferential coordinate $\boldsymbol{\theta}$

$$X(s,\theta) = \sum_{j=0} X_j(s) \cos(j\theta), \quad Y(s,\theta) = \sum_{j=0} Y_j(s) \sin(j\theta),$$

$$X = \{u, w, \theta_1, E_{11}, E_{22}, K_{11}, K_{22}, T_{11}, T_{22}, M_{11}, M_{22}, Q_{11}\}, \quad Y = \{v, \theta_2, E_{12}, K_{12}, S, H, Q_{22}\},$$

we reduce the geometric (1) and physical (2) relations, as well as the equations of motion (4) to a system of eight ordinary differential equations of the first order in new variables [29]:

$$y_1 = T_{11}, \quad y_2 = S + 2r_2H, \quad y_3 = M_{11}, \quad y_4 = Q_{11} + jH$$

$$y_5 = u, \quad y_6 = v, \quad y_7 = w, \quad y_8 = \theta_1.$$

Here, $\overline{j} = j/A_2$, where j is the harmonic order in Fourier series expansion. Taking this into account and seeking a solution in the form $\mathbf{y}(t) = \mathbf{y} \exp(i\omega t)$, we write the desired system as follows:

$$\mathbf{y}' = \mathbf{f}(j, \boldsymbol{\omega}, \mathbf{y}),\tag{5}$$

where

$$f_{1} = \overline{j}(2r_{2}H - y_{2}) - \psi(y_{1} - T_{22}) - r_{1}y_{4} - \omega^{2}\rho_{0}y_{5}, \quad f_{2} = \overline{j}T_{22} - 2\psi y_{2} - r_{2}Q_{22} - \omega^{2}\rho_{0}y_{6},$$

$$f_{3} = y_{4} - \psi(y_{3} - M_{22}) - 2\overline{j}H, \quad f_{4} = r_{1}y_{1} - \psi y_{4} + r_{2}T_{22} - \overline{j}(Q_{22} + 2\psi H) - \omega^{2}\rho_{0}y_{7},$$

$$f_{5} = \varepsilon_{11} - r_{1}y_{7}, \quad f_{6} = \varepsilon_{12} + \psi y_{6} + \overline{j}y_{5}, \quad f_{7} = -y_{8} + r_{1}y_{5}, \quad f_{8} = \kappa_{11};$$
(6)

 ω is the vibration frequency, $i^2 = -1$. The quantities included in expressions (6), taking into account (1) and (2), are calculated by the formulas:

$$\begin{split} \varepsilon_{22} &= \overline{j}y_6 + r_2y_7 + \psi y_5, \quad \kappa_{22} = \overline{j}\,\theta_2 + \psi y_8, \quad \theta_2 = r_2y_6 + \overline{j}y_7, \quad H = \overline{b}_{33}\varepsilon_{12} + 2\overline{c}_{33}\kappa_{12}, \\ Q_{22} &= -\overline{j}M_{22}, \quad \kappa_{11} = \left[\overline{a}_{11}(y_3 - \overline{b}_{12}\varepsilon_{22} - \overline{c}_{12}\kappa_{22}) - \overline{b}_{11}(y_1 - \overline{a}_{12}\varepsilon_{22} - \overline{b}_{12}\kappa_{22})\right] / (\overline{a}_{11}\overline{c}_{11} - \overline{b}_{11}^2), \\ \varepsilon_{11} &= (y_1 - \overline{a}_{12}\varepsilon_{22} - \overline{b}_{11}\kappa_{11} - \overline{b}_{12}\kappa_{22}) / \overline{a}_{11}, \quad \kappa_{12} = r_2(\varepsilon_{12} + \overline{j}y_5) - \overline{j}(y_8 + \psi y_7), \\ T_{22} &= \overline{a}_{12}\varepsilon_{11} + \overline{a}_{22}\varepsilon_{22} + \overline{b}_{12}\kappa_{11} + \overline{b}_{22}\kappa_{22}, \quad M_{22} = \overline{b}_{12}\varepsilon_{11} + \overline{b}_{22}\varepsilon_{22} + \overline{c}_{12}\kappa_{11} + \overline{c}_{22}\kappa_{22}, \\ \varepsilon_{12} &= \left[y_2 - 2(\overline{b}_{33} + 2r_2\overline{c}_{33})\overline{j}(r_2y_5 - y_8 - \psi y_7)\right] / [\overline{a}_{33} + 4r_2(\overline{b}_{33} + r_2\overline{c}_{33})]. \end{split}$$

Let us set homogeneous boundary conditions at the edges of the shell:

$$y_i|_{s=0} \delta_i + y_{i+4}|_{s=0} (1 - \delta_i) = 0 \quad (i = 1, ..., 4),$$
(7)

$$y_i|_{s=L} \delta_{i+4} + y_{i+4}|_{s=L} (1 - \delta_{i+4}) = 0 \quad (i = 1, ..., 4),$$
(8)

where for known kinematic and static boundary conditions $\delta_i = 0$ and $\delta_i = 1$, respectively.

Let us now solve system (5) with boundary conditions (7) and (8) using the Godunov orthogonal sweep method [30] with numerical integration of differential equations by the Runge–Kutta fourth order method. To do this, we represent its general solution in the form:

$$\mathbf{y} = \sum_{j=1}^{4} C_j \mathbf{y}_j,$$

where C_j are certain constants and \mathbf{y}_j is the set of linearly independent solutions satisfying the boundary conditions (7). As a result of integration over a given interval and satisfaction of boundary conditions (8) we obtain the following algebraic system to determine the constants C_j :

$$\sum_{j=1}^{4} C_j f_{ij} = 0 \quad (i = 1, ..., 4).$$
(9)

Thus, the problem is reduced to calculating the values of ω , for which there is a nontrivial solution to system (9). A necessary condition is the equality to zero of the determinant of the matrix $|f_{ij}(\omega)| = 0$. For this purpose, let us use a combination of the step method and the bisection method. Using the former we calculate such values of ω , at which the determinant of $|f_{ij}(\omega)|$ changes sign, and using the latter we specify ω in the obtained range of their values.

4. NUMERICAL RESULTS

The given numerical examples consider a conical shell ($R_1 = 0.1$, v = 0.3), either simply supported at the edges ($v = w = T_{11} = M_{11} = 0$, symbol SS), or rigidly clamped ($u = v = w = \theta_1 = 0$, CC), or has a can-

JOURNAL OF APPLIED MECHANICS AND TECHNICAL PHYSICS Vol. 62 No. 7 2021



Fig. 3. Longitudinal sections of the shell walls with different versions of changing the thickness and equivalent masses at the values of the parameter β : 2 (a); 5 (b).

tilevered support ($T_{11} = 0$, $S + 2r_2H = 0$, $M_{11} = 0$, $Q_{11} + \overline{j}H = 0$, CF). To represent the results, we use the dimensionless frequency $\lambda = \omega l \left[\rho(1 - v_{12}^2) / E_{11} \right]^{1/2}$ or the frequency ratio ω / ω_0 , where ω_0 corresponds to the minimum vibration frequency of a shell of constant thickness at the same cone angle. The variability of the thickness is set using the parameter $\beta = k - 1 = h_{\text{max}} / h_{\text{min}}$, where h_{max} and h_{min} are maximum and minimum wall thickness. Figure 3 shows the profile examples of shells with a mass equivalent to the reference mass for different values of the parameter β and different laws of thickness variation.

To verify the algorithm described above, we compared the results obtained by it with the data for a conical shell of constant thickness from [31–33] at $\alpha = 45^{\circ}$, $v_{12} = 0.3$, $h/R_1 = 0.01$. Table 1 shows the values of the dimensionless minimum frequencies λ corresponding to the first nine circumferential vibration modes *j* for shells with different boundary conditions. In the case of shells of variable thickness, a comparison was made with the solution from [18], which was obtained by the finite element method. Minimum vibration frequencies ω (Hz) and their respective harmonic orders *j*, calculated in the present work for a rigidly clamped (CC) conical shell at $E_{11} = 181$ GPa, $E_{22} = 10.5$ GPa, $G_{12} = 7.17$ GPa, $v_{12} = 0.28$, $\rho = 1600$ kg/m³, $h/R_1 = 0.01$, $R_1 = 0.1$ m and thickness varying according to symmetric linear law (version V2), are presented in Table 2 for various cone angles α , linear size R_1/l and different values of the thickness variability parameter β . The data in Tables 1 and 2 shows that the results are in good agreement with the previously published results of numerical-analytical and numerical solutions.

Figures 4a, 5a, and 6a present dependences of dimensionless frequencies λ on the cone angle α , calculated for different values of the circumferential harmonic *j* for different combinations of boundary con-

Circumferential		Simply sup	ported (SS)		Rigidly clamped (CC)							
harmonic <i>j</i>	[31]	[32]	[33]	calculated value	[31]	[32]	[33]	calculated value				
1	0.5463	0.5462	0.5462	0.5462	0.8120	0.8120	0.8120	0.8119				
2	0.6310	0.6310	0.6309	0.6309	0.6696	0.6696	0.6696	0.6695				
3	0.5062	0.5065	0.5061	0.5061	0.5428	0.5430	0.5428	0.5427				
4	0.3942	0.3947	0.3941	0.3941	0.4566	0.4570	0.4565	0.4564				
5	0.3340	0.3348	0.3337	0.3337	0.4089	0.4095	0.4088	0.4087				
6	0.3239	0.3248	0.3235	0.3235	0.3963	0.3970	0.3961	0.3960				
7	0.3514	0.3524	0.3510	0.3510	0.4143	0.4151	0.4141	0.4139				
8	0.4023	0.4033	0.4019	0.4019	0.4568	0.4577	0.4567	0.4565				
9	0.4676	0.4684	0.4671	0.4671	0.5177	0.5186	0.5175	0.5173				

Table 1. Comparison of the dimensionless lower vibration frequencies λ of a conical shell ($\alpha = 45^{\circ}$) of constant thickness under various boundary conditions

	-	$R_{\rm l}$	/1 =	0.5		R_1/l =	= 1	-	$R_1/l =$	= 2	$R_{\rm l}/l = 5$			
α, deg	β	[18]	j	calculated value	[18]	j	calculated value	[18]	j	calculated value	[18]	j	calculated value	
15	1	5021.83	9	5024.54	1815.93	9	1817.83	854.72	8	855.43	347.69	7	347.36	
	3	6280.01	9	6280.59	2145.69	10	2145.25	954.92	9	953.85	371.42	8	370.30	
	5	6842.47	9	6833.77	2296.27	10	2293.12	1005.08	9	1002.64	384.44	8	382.67	
30	1	4905.77	8	4908.28	1677.56	9	1679.16	740.18	8	740.45	281.25	8	281.09	
	3	6158.04	9	6158.33	2001.63	10	2001.42	837.58	10	837.13	302.46	10	301.84	
	5	6717.63	9	6708.44	2148.51	10	2145.81	879.96	10	878.27	311.65	11	310.57	
45	1	4763.09	8	4765.17	1527.07	8	1528.19	628.35	8	628.71	225.35	9	225.46	
	3	6010.19	7	6010.92	1844.52	9	1844.50	718.11	9	717.52	243.68	11	243.32	
	5	6566.66	7	6557.87	1988.18	10	1985.78	757.47	10	756.27	251.56	12	250.85	
60	1	4606.77	6	4608.56	1368.59	7	1369.53	512.32	8	512.95	172.03	8	172.06	
	3	5848.06	5	5848.54	1679.73	8	1679.88	593.62	9	593.56	187.94	10	187.74	
	5	6403.42	5	6394.11	1819.28	8	1817.14	630.39	9	629.58	195.26	11	194.82	

Table 2. Comparison of the minimum vibration frequencies ω (Hz) of a rigidly clamped (CC) conical shell of variable thickness (V2) at different values of the cone angles α , linear size R_1/l and thickness variability parameter β

ditions set at the edges of a conical shell of constant thickness ($R_l/l = 2, \beta = 1$). These data demonstrate



Fig. 4. Dependences of dimensionless λ (a) and normalized ω/ω_0 (b–d) frequencies on the cone angle α of a simply supported shell with values of the thickness variability parameter β : 1 (a), 2 (b), 5 (c), 8 (d).

JOURNAL OF APPLIED MECHANICS AND TECHNICAL PHYSICS Vol. 62 No. 7 2021



Fig. 5. Dependences of dimensionless λ (a) and normalized ω/ω_0 (b–d) frequencies on the cone angle α of a rigidly clamped shell with values of the thickness variability parameter β : 1 (a), 2 (b), 5 (c), 8 (d).

a significant dependence of the circumferential vibration mode with the minimum frequency on the cone angle α , especially in the case of symmetric (SS and CC) boundary conditions. For the same boundary conditions, increasing the cone angle to a certain value leads to a noticeable increase in the minimum vibration frequency, which in itself can serve as an obvious design solution aimed at maximizing the frequency spectrum.

The rest of the graphs in Figs. 4–6 reflect the effect of the cone angle α on the frequency ratio ω/ω_0 , obtained with different laws of thickness variation and different values of the variability parameter β . Here, ω is the smallest value in the frequency spectrum corresponding to several circumferential harmonics. The nonmonotonic nature of the curves is largely due to the change in the circumferential harmonic with a minimum vibration frequency. Such a transformation can occur both for shells with constant (as reflected in all curves) and variable profiles. The demonstrated dependences clearly illustrate the advantages or disadvantages of a variable profile in comparison with a constant one for shells with different combinations of boundary conditions and the same weight at a specific value of the cone angle.

Summarizing the data shown in Figs. 4-6, we can conclude:

1) There is no universal law of thickness variation suitable for various boundary conditions; every law behaves in a specific way for a particular configuration.

2) For some laws of thickness variation that are most suitable for certain boundary conditions, an increase in the variability parameter β leads to an increase in the minimum vibration frequency.

3) For the same laws, an increase in the cone angle α and the associated increment of the lateral surface of the shell lead to a significant increase in the minimum vibration frequency, especially in the case of cantilever support.

The most complex picture appears in the case of simply supported shells (Figs. 4b–4d). Here, in certain ranges of cone angles, it is preferable to use either asymmetrical or any of the symmetrical profiles.



Fig. 6. Dependences of dimensionless λ (a) and normalized ω/ω_0 (b–d) frequencies on the cone angle α of a cantilevered shell with values of the thickness variability parameter β : 1 (a), 2 (b), 5 (c), 8 (d).

Under the same boundary conditions, the convex harmonic profile (version V5) shows its advantages over other configurations uniquely at $\beta = 2$ and for a narrow range of α . For a counter case, one can reference [34], which shows that for a cylindrical shell loaded with a uniform axial force, this law of thickness variation with rigid edge restraint provides the most effective stability parameters.

Based on the data obtained, it can be concluded that the applicability of symmetric and asymmetric profiles is uniquely determined by the specified boundary conditions. In the case of two-sided rigid clamped (see Figs. 5b–5d) each of the symmetrical profiles has an advantage at any cone angle, guaranteeing an increase in the minimum frequency even in comparison with a cylindrical shell of constant thickness. On the contrary, examples with a cantilever boundary condition (see Figs. 6b–6d, the shell is supported along the edge with the maximum thickness), demonstrate a clear superiority of asymmetric thickness variation in comparison with symmetrical. The only exception is the version with $\beta = 5$, where the V4 profile with a small cone angle is more effective.

Note also that, with rare exceptions under such boundary conditions the variable wall thickness provides higher frequency values, in comparison with the uniform distribution of mass along the meridian coordinate.

The results obtained for other geometrical sizes and summarized in Table 3 demonstrate that both for very short ($R_1/l = 0.5$) and for longer shells ($R_1/l > 5$) the above dependences are not observed only under the free support condition. But, while for these boundary conditions the asymmetric profiles V1 and V3 are inferior to the symmetric in the case of short shells at large cone angles, for longer shells they conversely guarantee an increase in the vibration frequency in the entire variation range of cone angle. Moreover, the use of long shells with a symmetrical profile becomes unreasonable due to the deterioration of characteristics in comparison with shells of constant thickness. Quantitative differences in the minimum vibration frequencies of shells with variable and constant thicknesses depend both on the geometric size

	Table 3	. Normalized frequencies ω/ω_0	of a shell of variable thickness under di	fferent boundary conditions
--	---------	--	---	-----------------------------

α,	$R_{\rm l}/l=0.5$							$R_{\rm i}/l=5$							$R_1/l=10$						
deg	V1	V2	V3	V4	V5	V6	V1	V2	V3	V4	V5	V6	V1	V2	V3	V4	V5	V6			
							S	imply	suppo	rted (S	5S)										
0	0.992	1.036	1.002	1.042	0.957	1.043	1.000	0.981	0.995	0.980	1.020	0.980	0.997	0.986	0.994	0.987	1.007	0.986			
	0.959	1.095	0.993	1.125	0.893	1.121	0.995	0.955	0.989	0.964	1.034	0.961	0.986	0.948	0.975	0.934	1.006	0.943			
	0.932	1.105	0.984	1.035	0.858	1.031	0.989	0.936	0.983	0.956	1.034	0.950	0.978	0.920	0.960	0.929	1.002	0.921			
15	0.991	1.042	1.003	1.049	0.960	1.050	1.054	0.967	1.050	0.958	1.042	0.959	1.076	1.001	1.085	0.996	1.019	0.998			
	0.957	1.105	0.992	1.107	0.889	1.103	1.105	0.961	1.123	0.961	1.035	0.964	1.149	1.000	1.197	0.974	1.042	0.979			
20	0.931	1.086	0.982	1.030	0.854	1.025	1.111	0.960	1.150	0.982	1.02/	0.983	1.169	0.988	1.209	0.973	1.048	0.977			
30	0.988	1.044	1.001	1.052	0.955	1.053	1.061	0.981	1.064	0.972	0.996	0.974	1.092	1.000	1.097	0.988	0.990	0.990			
	0.949	1.104	0.986	1.095	0.883	1.090	1.110	0.982	1.137	0.960	0.991	0.965	1.155	0.945	1.129	0.911	0.989	0.914			
45	0.919	1.0/1	0.9/3	1.045	0.84/	1.039	1.120	0.9//	1.13/	0.965	0.986	0.969	1.165	0.92/	1.118	0.889	0.988	0.894			
45	0.985	1.050	0.997	1.060	0.950	1.001	1.071	1.008	1.082	0.997	1.008	0.998	1.070	0.975	1.072	0.964	0.997	0.962			
	0.933	1.033	0.972	1.040	0.880	1.035	1.124	0.988	1.125	0.959	1.005	0.903	1.115	0.91/	1.081	0.8//	0.959	0.878			
60	0.902	1.014	0.954	1.010	0.839	1.008	1.132	1.001	1.114	0.959	1.000	0.903	1.118	0.890	1.062	0.855	0.943	0.839			
00	0.970	1.049	0.990	1.001	0.932	0.000	1.000	1.001	1.071	0.991	0.084	0.992	1.030	0.939	1.04/	0.949	0.987	0.940			
	0.955	0.988	0.900	0.003	0.867	0.999	1.099	0.977	1.089	0.952	0.964	0.950	1.085	0.901	1.040	0.803	0.931	0.807			
75	0.950	0.975	0.955	0.993	1 004	0.964	1.037	0.908	1.072	0.955	0.903	0.959	1.001	0.882	1.020	0.049	0.950	0.852			
15	0.903	0.950	0.975	0.902	0.949	0.999	1.055	0.978	1.039	0.964	0.975	0.960	1.045	0.900	1.037	0.950	0.954	0.955			
	0.925	0.855	0.855	0.907	0.907	0.880	1.015	0.975	1.059	0.971	0.932	0.976	1.037	0.900	1.025	0.876	0.941	0.879			
	0.000	0.022	0.000	0.091	0.907	0.000	F	Rigidly	clamp	ed (C	0.5 IO C)	0.970	1.0 17	0.900	1.001	0.070	0.9 11	0.079			
0	0.987	1.091	1.012	1.105	0.895	1.108	0.995	1.012	0.997	1.018	1.011	1.018	0.996	0.992	0.992	0.997	1.031	0.997			
	0.942	1.204	0.993	1.226	0.787	1.239	0.976	1.042	0.986	0.998	0.974	1.005	0.979	1.034	0.978	1.032	1.065	1.040			
	0.916	1.256	0.970	1.272	0.737	1.295	0.962	1.046	0.976	1.015	0.929	1.027	0.967	1.062	0.968	1.007	1.010	1.024			
15	0.982	1.096	1.009	1.112	0.895	1.114	0.998	0.997	1.006	0.993	0.955	0.994	1.013	1.025	1.023	1.019	0.991	1.018			
	0.932	1.211	0.983	1.239	0.782	1.251	0.974	1.024	0.992	0.992	0.917	1.001	0.999	1.016	1.019	0.979	0.926	0.983			
	0.903	1.264	0.959	1.286	0.736	1.309	0.954	1.035	0.976	0.985	0.901	0.999	0.981	1.015	0.997	0.954	0.890	0.964			
30	0.976	1.097	1.004	1.115	0.889	1.118	1.000	1.018	1.004	1.012	0.957	1.015	1.000	0.997	1.006	0.993	0.962	0.993			
	0.918	1.218	0.972	1.252	0.774	1.265	0.971	1.026	0.985	0.991	0.914	0.998	0.971	0.975	0.963	0.953	0.916	0.958			
	0.887	1.272	0.943	1.304	0.726	1.327	0.948	1.033	0.960	0.977	0.883	0.989	0.947	0.983	0.933	0.968	0.877	0.979			
45	0.972	1.107	1.004	1.131	0.887	1.133	0.996	1.023	1.004	1.016	0.971	1.018	0.993	0.994	0.991	0.991	0.973	0.991			
	0.909	1.235	0.966	1.284	0.763	1.297	0.961	1.026	0.966	0.994	0.901	0.999	0.950	1.026	0.953	1.017	0.910	1.027			
	0.875	1.294	0.935	1.341	0.712	1.366	0.934	1.035	0.934	0.978	0.871	0.989	0.923	1.053	0.929	1.064	0.877	1.078			
60	0.968	1.115	1.003	1.147	0.872	1.149	0.988	1.024	0.992	1.018	0.966	1.020	0.980	0.999	0.981	0.995	0.976	0.996			
	0.895	1.259	0.961	1.329	0.743	1.343	0.940	1.033	0.945	1.003	0.896	1.009	0.934	1.043	0.943	1.036	0.919	1.046			
	0.856	1.324	0.924	1.398	0.691	1.424	0.910	1.045	0.909	0.990	0.865	1.001	0.905	1.073	0.917	1.087	0.883	1.101			
75	0.968	1.138	1.012	1.188	0.848	1.189	0.974	1.033	0.980	1.028	0.954	1.030	0.969	0.999	0.972	1.000	0.973	0.998			
	0.887	1.311	0.967	1.423	0.707	1.438	0.914	1.070	0.924	1.038	0.888	1.045	0.914	1.008	0.910	0.992	0.912	1.000			
	0.839	1.391	0.924	1.512	0.654	1.542	0.881	1.086	0.887	1.034	0.850	1.049	0.881	1.027	0.877	1.022	0.883	1.035			
0	1.062	1 012	1 061	1.020	0 000	1 010	Cai		1 eu suj	1 100	(CF)	1 100	1 021	1.062	1.025	1 09/	0 070	1 093			
U	1.003	1.015	1.001	1.020	0.990	1.019	1.004	1.080	1.014	1.109	1.012	1.108	1.031	1.002	1.055	1.004	0.9/9	1.085			
	1.139	1.010	1.131	1.020	0.9/0	1.014	1.004	1.001	1.014	1.042	0.061	1.038	1.10/	1.133	1.223	1.2/3	0.900	1.233			
	1.210	0.770	1.101	0.770	0.733	0.704	1.034	1.027	1.000	0.779	0.501	0.792	1.240	1.100	1.101	1.300	0.709	1.554			

Table 3. (Contd.)

α,	$R_{\rm l}/l=0.5$						$R_{\rm l}/l=5$						$R_1/l = 10$						
deg	V1	V2	V3	V4	V5	V6	V1	V2	V3	V4	V5	V6	V1	V2	V3	V4	V5	V6	
15	1.070	1.005	1.069	1.010	0.991	1.009	1.022	1.014	1.009	1.025	0.991	1.025	1.137	1.005	1.145	1.010	1.030	1.010	
	1.181	0.999	1.153	1.012	0.966	1.007	1.150	1.023	1.163	1.027	0.948	1.024	1.378	1.034	1.358	1.072	1.082	1.067	
	1.242	0.988	1.195	0.977	0.948	0.968	1.227	1.013	1.231	1.018	0.924	1.013	1.494	1.045	1.500	1.105	1.102	1.094	
30	1.083	1.002	1.082	1.007	0.991	1.006	1.137	1.002	1.144	1.006	1.031	1.006	1.117	0.979	1.111	0.980	1.005	0.980	
	1.210	0.992	1.186	1.003	0.967	0.998	1.335	1.028	1.324	1.062	1.077	1.058	1.351	1.010	1.433	1.052	0.940	1.047	
	1.277	0.979	1.236	0.964	0.950	0.956	1.425	1.037	1.482	1.092	1.018	1.081	1.467	1.027	1.653	1.100	0.912	1.088	
45	1.103	1.004	1.101	1.009	0.994	1.008	1.164	1.009	1.145	1.014	1.009	1.013	1.175	0.996	1.186	0.999	1.051	0.999	
	1.250	0.998	1.230	0.989	0.969	0.984	1.362	1.029	1.398	1.051	1.032	1.048	1.466	1.026	1.604	1.059	0.972	1.055	
	1.320	0.970	1.287	0.952	0.937	0.944	1.468	1.033	1.574	1.065	1.015	1.058	1.602	1.039	1.842	1.091	0.922	1.084	
60	1.114	1.001	1.116	1.003	0.983	1.002	1.182	1.007	1.189	1.012	1.018	1.011	1.187	0.996	1.200	1.000	1.051	0.999	
	1.284	0.978	1.272	0.973	0.947	0.968	1.425	1.030	1.464	1.054	1.038	1.050	1.493	1.029	1.655	1.061	0.939	1.058	
	1.365	0.957	1.340	0.929	0.925	0.925	1.539	1.035	1.670	1.070	0.974	1.063	1.636	1.043	1.932	1.094	0.893	1.087	
75	1.166	1.007	1.172	1.006	0.971	1.006	1.137	0.982	1.136	0.983	0.985	0.983	1.250	1.045	1.246	1.049	0.957	1.049	
	1.385	0.986	1.387	0.961	0.927	0.959	1.388	1.007	1.480	1.041	0.921	1.036	1.552	1.079	1.669	1.111	0.928	1.108	
	1.490	0.963	1.481	0.895	0.891	0.893	1.510	1.018	1.663	1.076	0.894	1.066	1.697	1.095	1.953	1.152	0.920	1.145	

and on the specified boundary conditions. For simply supported shells the frequency ration ω/ω_0 reaches maximum for a short shell: at $R_1/l = 2$, for rigidly clamped shells, at $R_1/l = 0.5$, and for cantilevered support the value of ω/ω_0 increases with the increase in the R_1/l ratio.

5. CONCLUSIONS

We present the results of numerical study of the frequency spectrum of truncated circular conical shells, the wall thickness of which varies along the meridian coordinate according to the power law or harmonic law. We analyzed the influence of boundary conditions, geometric size, thickness variability parameter, and cone angle on the natural vibration frequencies of the structure. The frequencies obtained for shells with constant and variable thicknesses are compared, under the condition that their masses are equivalent. For shells, the thickness of which is a function of the meridian coordinate, we obtained combinations of boundary conditions, the law of thickness variation with a symmetric/asymmetric wall profile or positive/negative curvature of the lateral surface, linear size, etc., at which there is a significant increase in the minimum frequencies compared to a shell of constant thickness. It is shown that for specific boundary conditions, by selecting a number of parameters, one can significantly maximize the minimum vibration frequency while keeping the shell mass (at a certain cone angle) unchanged.

FUNDING

The research was carried out within the state assignment of Ministry of Science and Higher Education of the Russian Federation (project no. AAAA-A19-119012290100-8).

REFERENCES

- 1. Banichuk, N.V., *Optimizatsiya form uprugikh tel* (Optimization of Forms of Elastic Bodies), Moscow, Nauka, 1980.
- Hu H.-T. and Ou S.-C., Maximization of the fundamental frequencies of laminated truncated conical shells with respect to fiber orientations, *Compos. Struct.*, 2001, vol. 52, pp. 265–275. https://doi.org/10.1016/S0263-8223(01)00019-8

BOCHKAREV

- Blom, A.W., Setoodeh, S., Hol, J.M.A.M., and Gürdal, Z., Design of variable-stiffness conical shells for maximum fundamental eigenfrequency, *Comput. Struct.*, 2008, vol. 86, pp. 870–878. https://doi.org/10.1016/j.compstruc.2007.04.020
- Topal, U., Multiobjective optimization of laminated composite cylindrical shells for maximum frequency and buckling load, *Mater. Des.*, 2009, vol. 30, pp. 2584–2594. https://doi.org/10.1016/j.matdes.2008.09.020
- Hu, H.-T. and Chen, P.-J., Maximization of fundamental frequencies of axially compressed laminated truncated conical shells against fiber orientation, *Thin-Wall. Struct.*, 2015, vol. 97, pp. 154–170. https://doi.org/10.1016/j.tws.2015.09.004
- Shi, J.-X., Nagano, T., and Shimoda, M., Fundamental frequency maximization of orthotropic shells using a free-form optimization method, *Compos. Struct.*, 2017, vol. 170, pp. 135–145. https://doi.org/10.1016/j.compstruct.2017.03.007
- 7. Medvedev, N.G., Maximization of the fundamental natural frequency and polymodality of vibrational modes of orthotropic shells of variable thickness, *Mech. Solids*, 1985, vol. 20, no. 3, pp. 140–148.
- 8. Sharypov, F.A., Free vibrations of conical shells of linear-variable thickness, in *Issledovaniya po teorii plastin i obolochek* (Research on the Theory of Plates and Shells), Kazan: Kazan Univ., 1970, Nos. 6–7, pp. 648–655.
- Soni, S.R., Jain, R.K., and Prasad, C., Torsional vibrations of shells of revolution of variable thickness, J. Acoust. Soc. Am., 1973, vol. 53, pp. 1445–1447. https://doi.org/10.1121/1.1913494
- 10. Chandrasekaran, K., Torsional vibrations of some layered shells of revolution, *J. Sound Vibr.*, 1977, vol. 55, pp. 27–37.
 - https://doi.org/10.1016/0022-460X(77)90579-X
- Takahashi, S., Suzuki, K., Anzai, E., and Kosawada, T., Axisymmetric vibrations of conical shells with variable thickness, *Bull. JSME*, 1982, vol. 25, no. 209, pp. 1771–1780. https://doi.org/10.1299/jsme1958.25.1771
- Irie, T., Yamada, G., and Kaneko, Y., Free vibration of a conical shell with variable thickness, J. Sound Vibr., 1982, vol. 82, pp. 83–94. https://doi.org/10.1016/0022-460X(82)90544-2
- Takahashi, S., Suzuki, K., and Kosawada, T., Vibrations of conical shells with variable thickness (continued), *Bull. JSME*, 1985, vol. 28, no. 235, pp. 117–123. https://doi.org/10.1299/jsme1958.28.117
- Takahashi, S., Suzuki, K., and Kosawada, T., Vibrations of conical shells with variable thickness (3rd report, analysis by the higher-order improved theory), *Bull. JSME*, 1986, vol. 29, no. 258, pp. 4306–4311. https://doi.org/10.1299/jsme1958.29.4306
- Sankaranarayanan, N., Chandrasekaran, K., and Ramaiyan, G., Axisymmetric vibrations of laminated conical shells of variable thickness, *J. Sound Vibr.*, 1987, vol. 118, pp. 151–161. https://doi.org/10.1016/0022-460X(87)90260-4
- Sankaranarayanan, N., Chandrasekaran, K., and Ramaiyan, G., Free vibrations of laminated conical shells of variable thickness, *J. Sound Vibr.*, 1988, vol. 123, pp. 357–371. https://doi.org/10.1016/S0022-460X(88)80117-2
- Sivadas, K.R. and Ganesan, N., Free vibration of cantilever conical shells with variable thickness, *Comput. Struct.*, 1990, vol. 36, pp. 559–566. https://doi.org/10.1016/0045-7949(90)90290-I
- Sivadas, K.R. and Ganesan, N., Vibration analysis of laminated conical shells with variable thickness, *J. Sound Vibr.*, 1991, vol. 148, pp. 477–491. https://doi.org/10.1016/0022-460X(91)90479-4
- Sivadas, K.R. and Ganesan, N., Vibration analysis of thick composite clamped conical shells of varying thickness, J. Sound Vibr., 1992, vol. 152, pp. 27–37. https://doi.org/10.1016/0022-460X(92)90063-4
- Viswanathan, K.K. and Navaneethakrishnan, P.V., Free vibration of layered truncated conical shell frusta of differently varying thickness by the method of collocation with cubic and quintic splines, *Int. J. Solids Struct.*, 2005, vol. 42, pp. 1129–1150.
 - https://doi.org/10.1016/j.ijsolstr.2004.06.065
- 21. Grigorenko, A.Ya. and Maltsev, S.A., About free vibrations of orthotropic conical shells with thickness variable in two directions, *Dokl. NAN Ukr.*, 2009, no. 11, pp. 60–66.
- Ning, W., Zhang, D.S., and Jia, J.L., Free vibration analysis of stiffened conical shell with variable thickness distribution, *Appl. Mech. Mater.*, 2014, vol. 614, pp. 7–11. https://doi.org/10.4028/www.scientific.net/amm.614.7
- Dai, Q., Cao, Q., and Chen, Y., Free vibration analysis of truncated circular conical shells with variable thickness using the Haar wavelet method, *J. Vibroeng.*, 2016, vol. 18, pp. 5291–5305. https://doi.org/10.21595/jve.2016.16976

- Javed, S., Viswanathan, K.K., Aziz, Z.A., and Lee, J.H., Vibration analysis of a shear deformed anti-symmetric angle-ply conical shells with varying sinusoidal thickness, *Struct. Eng. Mech.*, 2016, vol. 58, pp. 1001–1020. https://doi.org/10.12989/sem.2016.58.6.1001
- Viswanathan, K.K., Nor Hafizah, A.K., and Aziz, Z.A., Free vibration of angle-ply laminated conical shell frusta with linear and exponential thickness variations, *Int. J. Acoust. Vibr.*, 2018, vol. 23, pp. 264–276. https://doi.org/10.20855/ijav.2018.23.21164
- Javed, S., Al Mukaha, F.H.H., and Salama, M.A., Free vibration analysis of composite conical shells with variable thickness, *Shock Vibr.*, 2020, vol. 2020, p. 4028607. https://doi.org/10.1155/2020/4028607
- Sivadas, K.R. and Ganesan, N., Free vibration of circular cylindrical shells with axially varying thickness, J. Sound Vibr., 1991, vol. 147, pp. 73–85. https://doi.org/10.1016/0022-460X(91)90684-C
- El-Kaabazi, N., and Kennedy, D., Calculation of natural frequencies and vibration modes of variable thickness cylindrical shells using the Wittrick–Williams algorithm, *Comput. Struct.*, 2012, vol. 104-105, pp. 4–12. https://doi.org/10.1016/j.compstruc.2012.03.011
- 29. Karmishin, A.V., Lyaskovets, V.A., Myachenkov, V.I., and Frolov, A.N., *Statika i dinamika tonkostennykh obo*lochechnykh konstruktsii (The Statics and Dynamics of Thin-Walled Shell Structures), Moscow: Mashinostroenie, 1975.
- 30. Godunov, S.K., On the numerical solution of boundary-value problems for systems of linear ordinary differential equations, *Usp. Mat. Nauk*, 1961, vol. 16, no. 3, pp. 171–174.
- 31. Irie, T., Yamada, G., and Tanaka, K., Natural frequencies of truncated conical shells, *J. Sound Vibr.*, 1984, vol. 92, pp. 447–453.

https://doi.org/10.1016/0022-460X(84)90391-2

32. Shu, C., An efficient approach for free vibration analysis of conical shells, *Int. J. Mech. Sci.*, 1996, vol. 38, pp. 935–949.

https://doi.org/10.1016/0020-7403(95)00096-8

- Liew, K.M., Ng, T.Y., and Zhao, X., Free vibration analysis of conical shells via the element-free kp-Ritz method, J. Sound Vibr., 2005, vol. 281, pp. 627–645. https://doi.org/10.1016/j.jsv.2004.01.005
- Khloptseva, N.S., Weight efficiency of thin-walled shells of constant and variable thickness, in *Mekhanika*. *Matematika* (Mechanics. Mathematics. Collection of Scientific Works), Saratov: Saratov Univ., 2007, no. 9, pp. 155–157.

Translated by L. Trubitsyna